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Topic:- GENERAL HINDI

1) AEEIGT, BT, d B & [F-ugdl & ury 9ad,
eI, B, 3 € & To-ued) <t R ol | - 3O o e R BT gwaTe AT AT 82

2) “PUT, U5 THIEGR D | $H dTRI § QT Igaa H 35 dIel Weg Bl {1 B |
1.

2. T AP T

3. BXdl&r

4. g1

Corr;ct Answer :~

. BTXIER

3) T BT 4=t A goTay &1 3f R H A S arg?
1. Sia B HIfeR g

2. Y907 25 H AR BT

3. YISy
4, TGS 1 UGBT Bl
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Correct Answer :-

o IS BT USHI BT

4) @ F A g I oA
1. qxa

2.

3. fRy

4, f_a

Correct Answer :-

6) ‘Rig’ &1 waigar Fu d A S A1 82
1. MGd

2, ]G

3. 318

4. SATL

Correct Answer :-

7) R suddmes R @ Ig Fed s ars?
1. SOTGTor
2. IoaToft
3. gy diun
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1. 81§ gaT g1
2. ST ¢ Sl <8l
3. GBISTGl

4.5 ¢ ST CRI &

Correct Answer :-

- TEIH a1

9) He-Fe BT AL A& -
1. fopART - &eT

2. 497 - A1

3, 97 - fpART

4, I - 3T

Correct Answer :-
10) ‘HIg IR Sial 81 59 YR o1 9199 82
1. faf% Gae ar

2. ORI dI’

3. Ugad 1

4. oY eres a1y

Correct Answer :-

o WA

Topic:- GENERAL ENGLISH

1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:
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I was a bit apprehensive about doing so much in one day, but it was plain sailing.
1. very difficult

2. very simple

3. boring

4, too difficult

Correct Answer :-

» very simple

2) Choose the option that correctly sequences the following sentences.

1. It has a living room, two bedrooms, a modern kitchen and a bathroom.

2. From our balcony we can see the blue sky and the deep blue sea.

3. My sisters and I live in a comfortable apartment with a wonderful sea view.
4. The apartment is small but bright and airy.

5. We like the apartment, and we like its location.

1. 15243

2.32415

3.51423

4, 15234

Correct Answer :-

« 32415

3) Out of the following options, choose the most appropriate tense that best fills in to complete the given
sentence:

He  to Kolkata yesterday.
1. gone

2. has gone

3. went

4. have gone

Correct Answer :-
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4) Out of the following four options, choose the incorrect sentence:
1. The new trainee was clever enough to guess the answer.

2. The new trainee was so clever that she guessed the answer immediately.
3. The new trainee was so clever enough not to guess the answer.
4, The new trainee was too clever to miss the answer

Correct Answer :-

« The new trainee was so clever enough not to guess the answer.

5) Out of the following options, choose the correct form of adverb for the given sentence:

I was so late in reaching the station thatI __ missed the train.
1. soon

2. only

3. almost

4. entirely

Correct Answer :-

« almost

6) Out of the following options, choose the correct form of verb that is in agreement with the subject for the
given sentence:

The government to increase taxes.
1. is wanting

2. wants

3. were wanting

4. have wanted

Correct Answer :-

« wants

7) Out of the following options, choose the most appropriate usage to fill in the blank:
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We tried __ hard to get the muffin mixture correct.
1. really

2. real

3. greatly

4, extremely

Correct Answer :-

« really

8) A sentence with an underlined word is given below. Choose the correct option which is closest in
meaning to the underlined word.

The new chemical formulated by doctors could give an unprecedented insight into the ravages of Mercer's
Disease and provide a new line of treatment.

1. similar
2. extraordinary
3. equivalent

4, unparalleled

Correct Answer :-

« unparalleled

Topic:- GENERAL KNOWLEDGE

1) Name the Climate and Clean Air Coalition Global initiative led by WHO, CCAC and UN Environment to protect
planet from Air Pollution effects.

aTg UGUUT THTG § UT B YR&T & e Seryqud s, HReH! ok Hgad I Wiavur & Aqa § Saary 3R W arg
afRrer (Femgiie TS ool TR SIERR) afy® Tgd &1 | aard|

1. CleanAir / g TR

2. Green Choice / DIGI IR
3. BreatheLife / Sy NIELY
4. Me Eco You Eco / Ht éﬁ qgﬁ

Correct Answer :-

« BreatheLife / MY AISH
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2) Who among the following from Madhya Pradesh has been awarded with National Teachers Award 2017
recently? /

A vex § Frafafea 9 9 54 5@ 61 § W e Reer 2017 3 wwnfa fear mar g2
1. Dr. Suman Jhakhar / ST. JHA LR
2. Dr. Usha Khare / 1. 38T @Y

3. Manu Gulati / H] ?!FIIE”
4. Kavitha Nigam / dfddl {19

Correct Answer :-

« Dr. Usha Khare / ST, 3T TR

3) District Panna comes under which Division of Madhya Pradesh ? /
o u=, Ae wew & foha Gy (fedie) & sianfa emar @2

1. Chambal / TS

2. Sagar / dITIR

3. Shahdol / QHEE-WI
4. Gwalior / TaTfeRIR

Correct Answer :-

» Sagar /IR

4) The has approved a loan of USD 525-million to Madhya Pradesh for Infrastructure projects in
September-2018. /

3 RideR-2018 %1 giard e aRkaHmst & e aer we=r o1 525-Riftrs srriat sTer & »or & el & 21
1. New Development Bank of BRICS / g o1 701 forg i

2. World Bank / ﬁ%{ %

3. International Bank for Reconstruction and Development / gﬁ'ﬁﬂfm GhT foe & ﬁm m@’q %
4. Asian Development Bank / TS fae™ S

Correct Answer :-

« New Development Bank of BRICS / foieRy T =141 fadr CLY

5) Name the Madhya Pradesh city where Union cabinet approved in Sep 2018 to setup one of the 4 National
Institutes of Design (NID). /
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Y UGN P SH WX BT AT Fd13d oT61 Pald bio-e = Ridaw 2018 # 4 WP fSoms Iy
(EAMEST) A | TP B RIUT HI BT NP1l Gt |

1. Indore / 35[?
2. Bhopal / HITTdl

3. Jabalpur / STFTIYR
4. Gwalior / T[T

Correct Answer :-

» Bhopal / Hara

6) Name the scheme launched in 2018 by Madhya Pradesh Government to subsidize power for labourers
and poor families? /

2018 B T YT TRPHR GRT ASIgR] 3R TR TRaRi & fore fawrelt A faxtr ge R d R = ot e
YT BT 9 Ja159°?

1. Sambal Yojna / S&d-AISH

2. Pradhan Mantri Krishi Sinchayee Yojana / GYTTHEAT wﬁﬂﬁ; ST
3. Krishi Rin Samadhan Yojana @f@rwwmﬁruﬁw

4. Mukhya Mantri Khet Teerth Yojana / H’@m—?ﬁ W <1 Ao

Correct Answer :-

. Sambal Yojna / He@-TrSHT

7) The Shahi Litchi which has been awarded the GI Tag recently, belongs to which of the following states? /
e Wil Fordl §7e1 51 & SHSS &1 & weAT-ra fopar man 3, Frafafea 3 9 fora wrea & |@dfta g2
1. Bihar / ]%rE{R

2. West Bengal / TigH Sd

3. Tripura / lagﬂ

4. Uttar Pradesh / 3T m

Correct Answer :-

. Bihar / [98R

8) The Plateau forms the water divide between the Ganga and Narmada basin. /

R T 3R e IRM & S urht & faure &1 fRwfur svar 21
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1. Bagelkhand / S9ES
2. Rewa / fal
3. Bundelkhand / @%ﬂ'@g

4. Malwa / HIddd]

Correct Answer :-

« Malwa / HIAA]

9) Which one of the following is the world’s first Granite Temple? /
Frafafaa & & 14, gfar &1 yyw g dfer 82

1. Tanjavur Brihadeshwara Temple / ToITdY 7{6%{’&? HieY

2. Shore Temple of Mahabalipuram / ﬂ?@?ﬂw & dc dfaR

3. Hampi Virupaksha Temple / 80l faouref Hfax

4. Konark Sun Temple / HITH ﬁdqﬁ?

Correct Answer :-

 Tanjavur Brihadeshwara Temple / Fﬁﬂﬁ? Q?%’ﬂ TR

10) On 19th January 2018 India joined the Australia Group, an informal arrangement which aims to: /
19 Sa3Y 2018 HY IR, AT forars Tyg H firer 8 T o7 St ve Sru=nie saawat A, o S fae am:

1. Commitment of member states to the development of free and democratic societies and the promotion of peace
and prosperity. /

Had 3R A diHe JaTs & f[AeR iR Wifd iR T9fE & TaR & o Y Il &1 ufddesal S

2. Promote active collaboration and mutual assistance in the economic, social, cultural, technical and scientific
fields. /

31T, TSI, Wi iad, Ah-1d! 3R IS & § ik TgaNT IR URRS JeTadl & 91l &1l

3. Limit the spread of ballistic missiles and other unmanned delivery systems that could be used for chemical,

biological, and nuclear attacks. /

sfafRes i 3R 3= aFa ed faarur yunferat & TR & ifid &1 fomepT T I8,
Sifde 3R TR gHa! & fore faa s qehdn g1

4, Allow exporting or transshipping countries to minimise the risk of assisting chemical and biological weapon
(CBW) proliferation. /

TS R Sfdw SRER (Teles) TR & ST ®f &H $H- & g 1 @I afd a1 gafm &=
BT AR ST
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Correct Answer :-
« Allow exporting or transshipping countries to minimise the risk of assisting chemical and biological weapon
(CBW) proliferation. /

RIS SR Sfdw gRER ([ ldies) TR & SifEaH &1 %1 B & e <=t &1 fFHafd ar i e
DI 3 ATl

Topic:- GENERAL REASONING

1) Find the missing number: / W IT [T B
18, 24,21,27, ____, 30,27, 33

1.33

2.30

3.21

4,24

Correct Answer :-

.« 24

2) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /
T2 & 7 gaer &RY vd Tl BT STHH YART B 2 1 Terd Gare T UgaH |

(i) SU99RES6SH

(ii) SU99RE86SH

(iiii) SU99PES6SH
(iv) SU99RES6SH

4, 11

Correct Answer :-

3) 10 men can complete a job in 16 days. How many days will it take if 8 men do the same job?/
10 =Y 16 {311 T UH HTH ) RTHR THd | ! BTH DI B A 8 T DI pa-T1 THT THM?

1.22 days /22 T
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2.16 days / 16 T
3.20 days / 20 &

4.18 days / 18 T

Correct Answer :-

. 20days/20feT

4) Which one of the following four addresses is NOT EXACTLY same as the one given below?/

FPrafafEd fRe 7u ar val § @ 1R R e 1l & S 9a= S a1 e T8 22

W Quay Rd, V & A Waterfront,
Cape Town, 8002, South Africa
+27 21 410 7100

(i) W Quay Rd, V & A Waterfornt,
Cape Town; 8002, South Africa
+27 21 401 7100

(ii) W Quay Rd, V & A Waterfront,
Cape Town, 8002, South Africa
+27 21 410 7100

(iii) W Quay Rd, V & A Waterfront,
Cape Town, 8002, South Africa
+27 21 410 7100

(iv) W Quay Rd, V & A Waterfront,
Cape Town, 8002, South Africa
+27 21 410 7100

4, 1il

Correct Answer :-

5) Find the average. / ST A B
70, 80, 85, 58, 85 & 90

1.75

2.71

3.78
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4.72

Correct Answer :-

. 78

6) In a group of 63 people, 32 of them like Horlicks, 43 of them like Bournvita and each person likes at least
one of the two drinks. How many people like both drinks? /

63 AT} & TP TG , 374 I 32 P GIART UG §, 379 & 43 P Ji-dIel WG § 3R TA® HAfad Bi
S A A $H A $H TS U9 UHe B | fha vl &1 g 9 udie 82

1. 14
2.13
3.15

4,12

Correct Answer :-

7) IfE = 5, HEN = 27, then PEN = ? / Tf¢ E = 5, HEN = 27, @ PEN = ?
1.53
2. 36
3.35

4.63

Correct Answer :-

« 35

Topic:- PEDAGOGY

1) In education, John Dewey stressed on: /

e &, S St = 9@ faan @:

1. Learning by doing / PTH PP ARGl

2. Rote learning / Yo 9§ e

3. Authoritarian teaching methods / 3{ YRR (G{W) TRrefor fafdr
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4. Imitation and modeling / 30l 3R ATSfeiT

Correct Answer :~-

« Learning by doing / HTH HRap IR

2) The hormone that increases the heart rate during fear or anger is: /

Y g1 1Y b SR §&y Tfd 911 91T 8THI o
1. Insulin / sgi%ﬁ
2. Thyroxine / tngﬁ%ﬂ:r

3. Adrenaline / Q%:llﬂlé:l
4. Oxytocin / SRIeIRHA

Correct Answer :-

« Adrenaline / Q%qlalé;l

3) Summative evaluation is used for which of the following purposes? /
fraferEa # 3 fra SExa ¥ fore Tfed geaic o1 Sud fFar siar 82
1. To find out what a student’s interests and work habits are. /

g S & T o BT 31 Sfr SR &1 &1 Sed R |
2. Primarily to certify or grade students. /

T- 0 9 BE| &I THIOE T IS B o [t
3. To monitor students progress during the learning process. /

TRe B Ufoha o GRI il &t oeifer ST FRE 3 & ferul
4. To assign students to specific learning groups. /

fafry Rieror Twgl &1 orll & Ay B4 &

Correct Answer :-

« Primarily to certify or grade students. /

I3 0 4 B o JHIO 1 U $H o foru|

4) What is the purpose of educational supervision? /

eiforr yddeor o1 I T 82
1. To set norms, procedures and practices. / AFGS, ufgparelf 3R wureft &Y HuiRa H|
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2. To fulfil parental expectations. / Trar-fOar &t IEEl & R HRATI

3. To develop a positive teaching-learning ethos in the institution. / I T TH TPRIAD (R1&707-31H
TABTIR fAhRId BT

4. To develop an efficient office management system. / Ych P RIc] ST Yeie Jora! famRd BT

Correct Answer :-

« To develop a positive teaching-learning ethos in the institution. / T T U THRIHD [RIE01-MTTH
AR faenRa 1

5) The theory of Insightful learning gives importance to: /

e ftrTH T Riegia f & Aea gar &:

1. Develop autonomic functioning / ¥d[dcd PR [aHRIT B &

2. Develop thinking, reasoning, and imagination / ﬁ?ﬂT, dP qUT HeaRITad [AHRId B Bi
3. Develop emotional responses / HId-THD gfafehard [demRid o &l

4, Develop involuntary responses / fsH tri%riﬁo‘crrq R B &

Correct Answer :-

+ Develop thinking, reasoning, and imagination / ﬁﬂﬂ, db qUT HearRiiad faemRd B Bi

6) The main job of a teacher is to: /

e e o1 q=r $1 e g g
1. Help the students to learn for themselves / faenfial o1 wd de o Aeg B

2. Discipline the students / Ta=ITTRIAT T SR T X
3. Focus on teaching only / had fRIE0 IR S divad Bl
4. Point out mistakes of students continuously / ¢I¥ITdIR fenfia &t Tafadl &1 ST BT

Correct Answer :-

« Help the students to learn for themselves / faenffal o ad e o Agg B

7) All of the following has been found to account for differences in memory between older and younger
children, except: /

glmﬁﬁﬁﬁlmw%,ﬁmﬁaéaﬁwﬁ%ﬁﬁ%mwﬁrﬁ 3R B! AT A TEd §¢ T T[T

1. Use of mnemonics / TR® BT STANT
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2. Use of strategies / U ST SYTRT
3. Increased intelligence / 9G1 §5 GG U

4, Speed and efficiency of processing / Ush HUI P Tfd T SHJpddl

Correct Answer :-

. Increased intelligence / S@! E_it EIEE]

8) Language is not a necessary condition for: /
HTYT o & g oo srmawae fRufa 18 &

1. Perceptual thinking / 3{d YRUMHSD

2. Critical thinking / T8 9Id

3. Logical thinking / GICEIE]

4. Analytical thinking / ICESLIIEECARIC

Correct Answer :-

« Perceptual thinking / SAYRUTHS A

9) Students should be given opportunity for self-learning. This is in accordance with the principle of: /

faenffa ot w-sieras &1 SR &g s Tnfew) ge A & Rigia & egeu §:
1. Operant conditioning / JHTRT HS IR

2. Classical conditioning / FATRID S D IRAT

3. Mental set / HIFIIRI® Q@ﬁ'[

4. Multiple responses / a@’-m@ﬁ

Correct Answer :-

« Multiple responses / @—Qﬁm\ﬁ

10) According to Cattell, the capacity required for learning and problem solving, independent of education
and experience is known as: /

FeA D %avw,%ﬂ@ﬁ&ﬁ?mwﬁmﬁésmmm, e 3R ergya &Y Tazar A

1. Fluid intelligence (Gf) / 3R gf (SIIH)
2. Crystallized intelligence (Gc) / gf&Hmwf gﬂ-& (\TlnIL{Lb)

3. Quantitative intelligence (Gq) / HIATHD <g|f-§ (\Tlnldﬁl\)
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4. Processing speed (Gs) / TIEHRUT Tifar (Gﬁ'@)

Correct Answer :~-

« Fluid intelligence (Gf) / QR gfg (SIITH)

11) According to which theory should teachers and students engage in an active dialogue? /
o Rigia & YR, el 3 B & te Aftra Targ # |ey g1 Tnfee?
1. Teacher-centric / FRI&/@-diaa

2. Social-constructivist / FTHTG-ITd] C{\I

3. Behaviorism / SATAgTR T
4. Cognitivism / IJdIG

Correct Answer :-

« Social-constructivist / HIHIRYId)-Qd-'IIOIIQnI

12) According to multiple intelligences theory, the ability to recognize and classify all varieties of animals,
minerals and plants, is known as: /

TP s Rigid & AR, SFaR!, @i ofiR utell &1 goft frett o ygar- iR aiffed #a
P &WAT B FHeT SITdl 3

1. Spatial intelligence / W@@
2. Naturalist intelligence / m @
3. Bodily-kinesthetic intelligence / ] RN aﬂaa@@

4, Intrapersonal intelligence / faRIdgfea® gf&

Correct Answer :-

« Naturalist intelligence / uﬁ%la’m"r §@

13) In Lawrence Kohlberg’s Moral development theory, how many stages are there under the three levels
of morality? /

ANE Draat & Afe faer Rigia 8, Afaema & & Wi & dagd feas TRur gid 82
1. Three / I

2. Six / ¥%

3. Five / U

4. Four /dR
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Correct Answer :-

e Six /9%

14) In experimental method, the experimenter manipulates the .
T fafr o, raredt | Sl usferd sRar gl

1. Independent Variables / ST TR

2. Extraneous Variables / dTgl TR

3. Intervening Variables / AL TR

4, Dependent Variables / SIEREERN

Correct Answer :-

. Independent Variables / 3T TR

15) The core-curriculum does not emphasize: /

FR-UTETHH FrafEd W @R T8 T 8

1. problem solving / THIT AR R

2. a well-defined body of subject matter / {d& axg pI D w31 g W URUI™d BT HIT
3. common objectives / HTHI G%Q@f W

4, integration of different subject matter / fafere fawg a¥d &Il TPl

Correct Answer :-

« problem solving / THHT fHARUI TR

Topic:- BIOLOGY

1) In male, TDF is produced by the sex region of y (SRY) located on the short arm of the Y chromosome. What
is TDF? /

TRE, Y TORE P B Yol R R y (THIMRATS) F 77 & gRT TDF It gia1 81 TDF T 82
1. Thought determining factor / e %EWEﬁW o

2. Testis determining factor / ey %E?Tﬂgﬁm a'WET

3. Testis damaging factor / g SARIT ez

4. Time detecting factor / CISH feefaeT TR

Correct Answer :-
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« Testis determining factor / ¢y feexuT i+ haex

2) The simple inorganic substances released into environment during decomposition and mineralization are
reused by: /

g IR WS & SR Yaiarvr & IdaTfad IR SAPTES YSIAl BT Y-: SUANT =1 & gR fomar wrar 2:
1. Detritivores / 3[ORGIERI

2. Producers / SdTGh

3. Carnivores / HIGTERI

4, Decomposers / S{UdcCdH

Correct Answer :-

» Producers / SdIgdh

3) Lymphokines are protein substances produced in small amounts by lymphocytes and move from cell to
cell carrying message through the immune system. The most common lymphokine is: /

e Wi 98 uard gia §, <t fRrpiargel gr1 o1t ann & Sanfed gid ¢ sik uforen a3 &
AT I GIAT DI Th BIRADBT A G HIRDTH o I1d & | 99 I Rpiee e 8:

1. Vaccine / Il

2. Antigen / PINSE] (Q?ﬂ\_rFD
3. Antibody / UfaR&R

4. Interferon / Wﬁﬂ'\l&[

Correct Answer :-

« Interferon / 5' E?%?UI:I

4) RNA interference is initiated by: / IRTAY W&)‘C{ ﬁ'ﬁ BRT 3MRY T rar %:
1. ds RNA
2.ds DNA
3.ss DNA
4. ss RNA

Correct Answer :-

« ds RNA
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5) One of the scientists who unraveled the double helical structure of DNA and also proposed the existence
of an adapter molecule called t-RNA was .

TS AFIA® Rorela Siet &1 fgefirera =T & YegmaT 3fiR ¢-3MRTEAT (--RNA) ATHES TH ST
(SIPAD) 3] & 3T I WY uwarfad foan, ag q|

1. Erwin Chargaff/ A9 ARTH
2. Messelson / A

3. Francis Crick / SR fhap

4. F. Griffith / T%. fftpy

Correct Answer :-

o Francis Crick / W o

6) Tunica corpus theory is connected with shoot apex. The concept was proposed by: /

e iU Rigid, e T T Yot 1 59 S[aURU B! 59 gRT ufduried far war oT:
1. Schmidt / fRHe

2. Julian von Sachs / \Ij\f(\*iqﬂ I I

3. Hofmeister / ETVW
4. Gottileb Haberlandt / Tlcqid gk S

Correct Answer :-

- Schmidt/ f@He

7) The proportion of PAR in insolation is: / 3T ('\“Ej-qu) T PAR FT SUrd e gare:
1. <50 %

2. 80%

3.2%

4.> 50%

Correct Ahswer -

« <50%

8) Search for plant and animal species from which medicinal drugs and other commercially valuable
compounds can be obtained: /



Fﬁ%ﬁﬁmﬁ@ﬁﬁmmmmﬁmaﬁmwwmﬁﬁm
Thd &

1. Bioremediation / STATERUT
2. Bioaccumulation / STa¥aa
3. Biosensoring / EERELAD
4. Bioprospecting / ECIEIS]

Correct Answer :-

« Bioprospecting / SRS

9) A cuckoo laying eggs in a crow’s nest is an example of: /

TS P F Giad | S I a1elt TP Faa 19 71 T Seeror &:
1. ectoparasitism / STRIURSITTA T

2. brood parasitism / RIS URSilTddT

3. Commensalism / GEHIS

4. Mutualism / JIR¥RT[

Correct Answer :-

 brood parasitism / i§|§ Relfadl

10) If an organism needs to synthesize fatty acids which of the following compound will be withdrawn from
the respiratory pathway? /

gfe fp=ft siia &1 9aT1 3=l ) WA B B STazgHdT & S 49 AR A Fuffaa A A s ar
T FRrepTar Se?

1. Pyruvic acid /| UTS S 3%

2. Acetyl coenzyme A / Qiﬁléa JgUsiisH A
3. Citric acid /@IEEF &

4. Fumaric acid / H@W 3T

Correct Answer :-

o Acetyl coenzyme A/ QI%I'EE’I ggUGgH A

11) Technique used for quantification and detection of mRNA: /

mRNA B @IS 3R AT & fore Sa91a 91 9TH arell aa-ia! fA &
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1. Eastern blotting / ﬁ@ﬁﬁ'ﬂ

2. Southern blotting / Sf&mi saife
3. Western blotting / gt s
4. Northern blotting / IR ST

Correct Answer :-

« Northern blotting / SR AT

12) Technique employed in studying essentiality of any mineral and the deficiency symptoms associated
with the mineral in plants is: /

98 do-i® ot fHa) ft wforer &Y sifvrardar sitz vl # wfoer 3 wefia =gmar aemn & sreaa o
WART B wirel 3, i @

1. Euphonic/%[ﬁlﬂ?:R
2. Aquaculture / H&IUTelH

3. Mariculture /W&f

4, Hydroponics / SIcl TaeH

Correct Answer :-

 Hydroponics / SIcl gaedq

13) The last five episodes of mass extinction appear to have occurred at the end of:/
%oqu faqw g1 & Sifaw o us=or A & sia H &
1. Cambrian, Silurian, Devonian, Carboniferous and Triassic /
Ffsrer, Rigfem, SafFad, Sy iR Tafie
2. Cambrian, Triassic, Jurassic, Cretaceous and Tertiary /
3. Ordovician , Devonian, Permian, Triassic and Cretaceous /

4. Ordovician, Silurian, Carboniferous, Jurassic and Quaternary /

SiisifaRm, Ricglem, HEfAH, RS R B (FIHITES)

Correct Answer :-

« Ordovician , Devonian, Permian, Triassic and Cretaceous /

Page- 21



14) A photoreceptor molecule other than chlorophyll which mediates several developmental and
morphogenetic responses of plants to light: /

FARIbBE P 3Tl TH WAL 3] ot weT=1 & N & fafi= faera siik wvemn fawr wfaferan
B AR P 8, T §:

1. Xanthophyll / guidta (el?ﬂm
2. Phycoerythrin / q’3|$$-|$ma:l

3. Phytochrome / ngaw
4. Carotene / BRI

Correct Answer :-

« Phytochrome / tb—m'q

15) Griseofulvin is an antibiotic that has no antibacterial activity but is very effective against fungi. It is
commercially produced from: /

Fapafad e Tlamifes ¢ formd @1 siiamuRish Tfafaf 7 § afe sae & e 9gd
THTS 81 g8 arivrsue ¥ 9 Ay & I far s &:

1. Penicillium chrysogenum / URRTe BrdeHd

2. Penicillium patulum / UFTRICRIT Ugad

3. Cephalosporium acremonium / FHARAINIH THshI-H
4. Penicillium notatum / ARty Aicen

Correct Answer :-

« Penicillium patulum / OFFTRTeraH ﬂgﬂﬂ

16) Only morphological characters are used for identification and classification of plants in : /

ﬁﬁ%{g@ﬂﬁﬁ%ﬂﬁﬁ%ﬁﬁuﬁﬁeﬁ?m%mmmﬁwﬁmmﬁm
SIGLEGH

1. omega taxonomy / 3 gEfferur fagm

2. alpha taxonomy / 3{c1p] GHIERURCKIG

3. delta taxonomy / Scel JifeRul faqw

4, beta taxonomy / et grffesor IERIG]

Correct Answer :-

« alpha taxonomy / 3{ctb] GRiITEeRyY EEIG
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17) Products of metabolism that are removed from the body through tubular secretion. /
ARIBTOR AT & ATHH | IRR T TATITT & &l TG gl 9Md &, 1 &

1. Carbon dioxide, sodium, magnesium / Wgﬁa{mﬁg, Fﬁ%ﬂﬂ, ﬁﬂ’@mn

2. Urea, amino acid, Chloride / qﬁm, Q’&Fﬁ 3, Wﬁg

3. Creatinine, uric acid, Ammonia, Drugs /%@%ﬁq, ZI;W 3, &chﬁ'ﬁﬂ, S

4. Glucose, calcium, vitamins / W, %@ZTCIT[, ICEIEE]

Correct Answer :-

. Creatinine, uric acid, Ammonia, Drugs / fpTfcH, gk 3w, S, S

18) Species which would fall into the category of endangered species if causal factors continue to operate: /
9 wirfaar < faquayma snfoal & ot & s afe wwofia sR® AR wafem 8, = 8:

1. Indeterminate / KIEIER]

2. Threatened /ﬁm

3. Vulnerable / G@f\&lﬁ
4. Rare / _g’,fh-f

Correct Answer :-

 Vulnerable / W&lﬁ

19) During the transport of carbon dioxide the ionic balance between plasma and RBCs is maintained by: /

W%maﬁwEE%W%aﬂqmaﬁ?W%mmﬁawﬁummw
SITdl &:

1. reverse chloride shift / R ?ﬁ'ﬁﬂ%@? Re

2. chloride shift / FRIRTSS I

3. sodium potassium pump / TISTH TIeREH Ug
4, oxygen debt / SRS 0T

Correct Answer :-

« chloride shift/ FARISS R
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There are some chemicals whose limited application on the leaf surface reduce or checks transpiration.
Which of the following is an antitranspirant? /

PO T [T % 11 &1 Iag W= WG SuaRT $H 81 54T @ a1 Y&l &1 o Ha1 g
Frafafaa & | &9 91 v yfaareanasie 82

1. Phenyl mercuric acetate / ]CEF'H_{(_'T IIW Q?ﬁé_cf
2. Naphthalene acetic acid / el'qﬂl?ﬂ:f Qﬁlﬁ? E@l‘s’
3. Ethidium bromide / Qﬁl'%'q-q W

4, Ethylene / Qfﬁ?ﬂ:f

Correct Answer :-

« Phenyl mercuric acetate / [EEIEN] ﬂm wilce

21) The common aperture through which the first and second ventricle of the brain open into the third
ventricle./

98 9T g s arerm 3 afiass &1 ugar iR gert g e Faa s gaar g, = @:
1. Foramen ovale / 3STHR IY

2. Foramen magnum / YY Y

3. Foramen monro / X8 AR

4. Foramen obturatum / ¥¢ UT& 3 o felT

Correct Answer :-

« Foramen monro / 3¢ AIFRI

22) A group of species that theorizes a single common ancestor & all descendants of that ancestor — living
or extinct: /

mewﬁmmﬁaﬁwﬁﬁamﬁwqﬁa%mﬂmmﬁmﬁm

1. Clades / SN (T1S)
2. Kingdom / SITTd

3. Genus / 9%

4. Family / $d 91 RAR

Correct Answer :-

. Clades / ST (FRIS)
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23) Total number of ATP molecules synthesized in EMP pathway by substrate level phosphorylation and
oxidative phosphorylation respectively are: /

Tehee W BIEpIRARM 3R sifRitsfed wiemiRas gr1 EMp GuHd) Arf & Wxafda aTp
@) 3rusil Y pa T H: A §:

1,10 and 8 /10 3N 8
2.6and4/6 3R 4
3.4and6/4 3R 6

4.8and 10/8 3R 10

Correct Answer :-

« 4and6/4 36

24) Double helical structure of DNA is developed through: /

SITT B Sigd eftrpd TR 50 a1 A e Ra 1 1E:

O

1. scanning electron microscopy / TH T 5@10?;7"1 J-Ils'gcb\l%dﬂul

2. X-ray crystallography / Ta-X fohee e

3. compound microscope / HHTIS Hliw\l%d?\lu

4, Ultracentrifugation / H@’@@W

Correct Answer :-

« X-ray crystallography / Te-X e armp!

25) Amino acids like citrulline, ornithine and gamma amino butyric acid are called: /

arggarsH, R iR T s sgedier ere S erfist et ot wgad @
1. non protein amino acids / S ST 3
2. essential amino acids / 3TALID HA! 3

3. protein amino acids / I S{H 3
4. acidic amino acids / 3T ST 3

Correct Answer :-

 non protein amino acids / ST ST 3

26) Chlorophyll is a pigment which is structurally similar to and produced through the same metabolic
pathway as other porphyrin pigments. The core metal ion present at the centre of the chlorophyll ring: /
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FARITP A U quIes g Sl AIATHD U I 3T GIfh{¥ quies & THE JA19=d HRT & HISTH 9
I 3R 3P Bt THH BlaT 8 | FaRITbd 31 & Hg A Hivie A FIR UTq 31 8:

1. Magnesium / TREE
2. Manganese / B
3. Iron / TR

4. Potassium / q*l%ﬁz‘rqﬂ

Correct Answer :-

» Magnesium / AfREe

27) A gene library representing the population of m RNAs in a tissue: /

TS SH-GUE W U S & m RNA B SIS ) UeRid H3dl g, A= &
1. cDNA library / HISIT-T TG

2. Gene bank / SfH HER (i dF)

3. Pollen bank / TRTTT &

4. Genomic library / SIITH T

Correct Answer :-

« cDNA library / HISIT-T ¥Ug

28) Association of a hermit crab with a coelenterate, Sea anemone illustrates: /

Ridiever (SaE) & |y T THiqari dohe $1 9y, TgEwd (I Ti) = feemar &:
1. proto-cooperation / 3{Tg TgANT

2. Parasitism / TRSIITdcll

3. Predation / TRIBR

4. Symbiosis / Fgeiiad

Correcf A‘nswer -

 proto-cooperation / Wﬂ%ﬁﬂ'{

29) What is common about apomixis and vegetative reproduction?/
SRS 3R gl o9 & a1 | &1 99T 82

1. The progeny produced by both the methods are identical to the parents /
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< fafert @ Saried Hdfd Sl & 9 gl §
2. Both produce haploid progeny /&It S‘P:[ﬁlﬁ Tdfd ST B %
3. Both the processes occur in monocot plants only Gl m Had Qchdnlkﬂ U aiel o Bl gfed Eﬁ?‘ﬁ %
4, Both the processes bypass the flowering phase IEEIRIERIY g@ﬁ UITRT 6T ITUYT BT &

Correct Answer :-

» The progeny produced by both the methods are identical to the parents /
I faferal @ Ianfed Haf Sl & wHH gl 3

30) Identify the positive interaction from the following: /

Frafafea | @ tATere RERfEar o1 g a3:

1. Amensalism / Ggoifadl (SH T &I g1 Tgdl & SR GERT ATHTId 81T 8)
2. Competition / Tfcrae

3. Scavenging / 3TOHTS

4. Predation / TRHEOT

Correct Answer :-

» Scavenging / STHTS

31) Internal cavity of the oviducts, ventricles of the brain and the respiratory passages are lined by: /
fSwariet~al @t siake® g1, Afass & e ok 4a= 9t 19 gR1 e gId &

1. stratified epithelium / TRd Iubar

2. transitional epithelium | HHHUIBTC SUH T

3. squamous epithelium / RIeh] 3UdH T

4. ciliated epithelium / G&ATIH Iuahar

Cbrféét Abnswér -

- ciliated epithelium / T&ATH IuHar

32) Number of ATP molecules produced on complete breakdown of pyruvic acid molecules in presence of
oxygen: /

ST &1 IuRRATT & urgsiae 3wt 3rufsti & quf 4T 514 R Scried ATP S(U[3ii &t @ f=
Il &

1.24
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2.15
3.38
4.30

Correct Answer :-

- 30

33) Premature fall of leaves, flowers and fruits in apple trees can be checked by spraying plants with: /

J9 & Us H v, we i wel & a9a A ugd Rmae &1 5w dief wR e & fssoa & 91y $t o
m%:

1. Gibberellin / fSTaRferT

2. Ethylene / ‘Iﬁl?ﬂ:[

3. Benzyl amino purine / a\_rﬂgﬂ S ug[ﬁ?{
4. Indole acetic acid / S@F‘T Qﬁlﬁ KT

Correct Answer :-

« Indole acetic acid / '&'_Eﬂﬁ Eﬁlﬁﬁ A

34) A human male with Klinefelter’s syndrome .| FATSTH A ﬁl@'ﬂ CIGIRCICIECRY O
|

1. shows normal masculine characters. / STHI H& T T&T0T feamar %I
2. is fertile. / &M BIAT & |

3. has only one sex chromosome. / hdd Teh el JUINIA I g |
4. has 47 chromosomes with XXY. / T XXY & WY 47 UG & &1

Correct Answer :-

« has 47 chromosomes with XXY. / T XXY & 1Y 47 BILUESE Hek

35) Kupffer cells are found in the liver, attached to the walls of the sinusoids. They are /

PP DIRABT TPHd A UTE 1Al 8, 5l 595 P dlar) & JSt gl &1 98 =T 8
1. tubular glands that secrete alkaline watery fluid, a little enzyme and mucus./
d TSR T ST &R oRa Uer, ST U SR SeTH Hifad et g |

2. specialized macrophages that dispose of old blood cells and particulate matter. /

3 faR HepTthel St QR Yo BRSBTS 3R Hi0rehT dw &1 e Hvd ]
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3. epithelial cells that stimulate release of bile from gall bladder. /
d IS HIRABIE 1 U= & IRy @1 giad & fog Sford st 6

4, glandular cells that produce bicarbonate ions and somatostatin. /

q U HIRBTT S TRBTEMC I 3R TR e T IdTe Hl B |

Correct Answer :-

« specialized macrophages that dispose of old blood cells and particulate matter. /

3 oy Aeprths Sl R ad HIRTB137 3R HVIDT ded BT Fue B &

36) Sum total of living genetic resources such as seeds or tissues that are maintained for the purpose of
animal and plant breeding, preservation, and other research uses: /

SHERT 3R Tl & Yo, TREIUT, 3R 3 MY & IR & (e safeud f6d e shfaa smaaikie
AT O §I 91 SHad HT pa U - Heamr &

1. Seed bank / IS %
2. Gene bank / 59 a@'_

3. Herbarium / a?éﬁ?m
4. Germplasm / S

Correct Answer :-

« Germplasm / SH@

37) Semisynthetic human insulin prepared by using: /

IriRidfes ara e Y =T &1 sauTa H3d gU daR fhar wiran 2:
1. Pork pancreas / {J31¥ STARIY

2. Yeast cells / THIR m

3. Bio chemicals / S THTIA

4. Escherichia coli /32Rifdar it

Correct Answer :-

« Pork pancreas / 3R 3IRY

38) Which of the following is true regarding the tertiary structure of proteins? /

W& B etae w==1 & an | fFraferfad § § o9 araa g2

ON N\

1. Combination of subunits / J&g[ci BT H I
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2. a - helix or B-pleated sheet / 3{ethl gicIa a1 dfie Wiics Wi
3. Skeleton of Amino Acids / Qﬁl:ﬁ 3T I BY @]
4. Side Chain Orientation and Position / TTRd $RaaT NGOy 3R fRufa

Correct Answer :-

« Side Chain Orientation and Position / UTRd $Raa SAffa=m 3R fufa

39) Which of the following process is not involved in the formation of blood clot: /

FrafeRaa ufsear & A 19 1 G & Y61 & T+ | R 731 8:
1. Release of thromboplastin / TSR T A0

2. Denaturation of thrombokinase / ahiéﬁm &I ﬁ@lﬁw
3. Formation of fibrin / BTSsH &1 T34

4. Conversion of prothrombin to thrombin / Y& I $ifieH o wgiaror

Correct Answer :-

« Denaturation of thrombokinase / U139 P fd P fep T

40) Which of the following chemical agent is used for fumigation? /

o & fere FrafefEe 3 @ o ar warae siftrede sy fear smar g?
1. Phenol / ThAI@

2. Alcohol / T Igd

3. Iodine / 3TATS

4. Formaldehyde / BIHeS 8158

Correct Answer :-

» Formaldehyde / tﬁ\ﬁ@fﬂ%—&'

41) Which of the following is a Mendelian disorder? / Frefafaa 7 @ @9 ar dsfra fewainse 32
1. Phenyl ketonuria / TohITIc Efﬁa—{ﬂtl'[

2. Blindness / ESlai-dl (®_('1'|33_:m)
3. Mongolism / e
4. Turner’s syndrome / TR ﬁl@ﬁ

Correct Answer :-
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« Phenyl ketonuria / Th-TId BicRaT

42) Classification of viruses by Baltimore is based on: /
IR gRT faurupsit &1 aeffewor 30 = enenfya
1. The size factor / ISl PRDH

2. The nature of genome and its replication strategy/\_rﬁ:hqfﬁof qui?l L] 9D leaq?lr(\‘l g@?
3. The type of host they infect /@EWW@[%W&HW %’
4, The shape of the virus / IO BT H[HR

Correct Answer :-

« The nature of genome and its replication strategy / S Y Wﬁ"f({a WW@

43) Choose the end products non cyclic photophosphorylation: /
SAHIT WIS BB IR $ 3iferd It gHT:

1. 2 ATP, 2NADH, 02

2. 8ATP, 12 NADH, 02

3. 6 ATP, 2 NADH, 202

4. 6 ATP, 3 NADH, 202

Correct Answer :-

» 2 ATP, 2NADH, 02

44) Choose the correctly matched pair from the following: /

fFafafaa & & ot A« i wn g =

1. Chloramphenicol — Streptomyces venezuelae / FARTHBG DT —@:@'ﬁl’q@ﬂ aeﬁﬂ?ﬂ
2. Cyclosporin — Monascus purpureus / {-Ilsd'ﬂ\llr@H - J—l\l"ll%O‘QH tlui'm

3. Pyrethrin- Azadirachta indica/ tl'l%i@:l—:ﬁq

4. Protease — Aspergillus niger/m—ﬁmﬁ%’lﬂw

Correct Answer :-

« Chloramphenicol — Streptomyces venezuelae / FARTHh DI —@:@TI'CI@F aﬁ\_ﬂﬂ?ﬂ
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The places on earth occupied by large number of endemic species which face the threat of habitat loss are
called: /

7l R 9t Hen d Tt Wi gerfadl gRT 75 {6 R wi S uatar &fa & @y o1 arE

1. ecological hot spots / gikfufde gic Wie
2. mega diversity zones / fo=ma fafay <°33[

3. safari parks / qBR] UTh

4. national parks /T@HW

Correct Answer :-

« ecological hot spots / gikfRufde gic Wi

46) The hormone that increases the heart beat if present in higher concentrations is: /

9% T ol 3 Wigdl § SURd 511 W fGd Bt US®+ &l dgrar g, = &:
1. Insulin / S

2. Adrenaline / TfgAfer

3. Calcitonin / FEATCIH

4, Glucagon /’FEI’TITﬁ:T
Correct Answer :-

. Adrenaline/ngélla:l

47) Viruses are sometimes called as wandering genes because: /

faumureli @ wft-w 1l YedA arat udewsia weT ST § Fife:

1. They are infectious. /éW%l

2. They carry both RNA and DNA. /d 3RUAU ﬁmméﬁwaﬁ%l

3. They carry only one type of nucleic acid. /3 Had Udh YhR %W Waﬁlﬁ%l

4, Nucleic acid is the only active part of a virus. / dIIXYH hT Tfeh %WW W W%I

Correct Answer :-

« Nucleic acid is the only active part of a virus. / AT HT Tfehy e saa W GW%I

48) Like higher plants, photo autotrophic bacteria are capable of converting radiant energy in to chemical
energy. But the process is "Anoxygenic'. What does it mean? /



I=®DIe UTGU B a8, UHTIRAUITYd dae1iNgT fafb3or Sull & IMmafae el A uiafdd &1 |
& Ba &1 afdea uftpar «otefieifre” gt 21 g9 . arad 22

1. They cannot split H,0, so no Oxygen is evolved. k] H,0 W@?FT:E?IWW, =LY Sffqdtsr &1 fAmfor
I8! gId|
2. They have their own reducing power. / DT U SIS mﬁﬁ?ﬁél

3. They can split H,O by other methods. /T 3 fafd gr H,0 &I Ge B qohd %I
4. Oxygen is evolved, but cannot use it. / Gﬁlﬁmﬁﬁﬂ?ﬂmg, WWWH@E‘[WI

Correct Answer :-

« They cannot split H,0, so no Oxygen is evolved. /3 H,0 P WS Tl PR cha, 5%11?1& 3ffqtsr o1 fAmfor
el gl

49) Spot the mis matched: / Tdd e &1 9 B9

1. Sertoli cells - nutritive / TEIal BIRADT - TDHIT

2. Graafian follicle — corpus luteum /‘JITW)DTW -tiq fus

3. Corona radiata - sperm / 3R fadic - RIhTU]

4. Leydig cells - testosterone / ST HIFRABT - TR

Correct Answer :-

« Corona radiata - sperm / 3RIY T - Rh10]

50) Which of the following reactions take place in the glycolytic reversal phase of Calvin cycle? /
Sfca T F g SIdicsd Rada avur & Faffed § & o1 9 sififpang gidl &2
1. Oxidation of phosphoglyceric acid to dihydroxy acetone. /
IR 3T BT STREI3gIal THICH H flaRiirul
2. Oxidation of phosphoglyceraldehyde to phosphoglyceric acid. /

N Y

BN ITR A S 8IS S BT BRI R 3 T JHaRIp |

3. Conversion of phosphoglyceric acid to phosphoglyceraldehyde. /
B ICIRD 3T BT BRBINRRASEISS H ¥Rl |

4. Conversion of phosphoglyceraldehyde to ribulose phosphate. /
IRPINERASEISS BT Reelsl BIthe H FUIRUI|

Correct Answer :-

« Conversion of phosphoglyceric acid to phosphoglyceraldehyde. /
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N W N o o

BB IR E 3T BT BIEhI R ASeI8S H Uidul|

51) Which of the following statements is incorrect about diatomite? /

SHRCHIEe & I A fFrufefad § 9 19 91 $49 7Tad 82

1. A poor conductor of heat. / HSHI hT HATAD I gl

2. Used in the manufacture of fire bricks and dynamite. / s{f?m‘e:é‘c' (WW) 3R ST Hisc & Ao H
TRINT o ST & |

3. Porous, insoluble and chemically inert. /%ﬁ'ﬂaﬁ, &@T'I:I'Qﬂﬁ GﬁTWW@fﬁm@ﬂT%l
4. Obtained from the hard cell wall of lichens. / ('H'éab"l P FHIR W%@WWW%I

Correct Answer :-

« Obtained from the hard cell wall of lichens. / ATSH B! HOR WW@WWW%I

52) Which of the following represents a detritus food chain? /

FrufafEa # @ o w1 fEfeey @ g qufargs

; Oak tree —» Insects —» Warbler /Mg de[d —phlEe  — IS (Uch YehX ol U&(l)
> Grass —» Rat—» Snake —» Eagle /9T —» <gr —> a9 —» &5

Phytoplanktons—» Zooplanktons—» Small fish —» Large fish / 9IgUveldeh —» I UlCoTddn
3 BIEr ASel—  daf dSall

4 Dead leaves —» Woodlouse —pBlack bird / Hd Iica™l —» E1HG —» SITHTIET

Correct Answer :-
Dead leaves —» Woodlouse —pBlack bird / Hd 9 T —» ETHT —» IITHTIET

53) Which of the following is not a mechanism to increase body temperature? /
Frafeafaa A @ F19 IR & ITUHE B ge ardl fearfafy 78 82

[
1. Increased metabolism / TATUTY 1 iegk

2. Vaso dilation /WW
3. Shivering / HHUL
4. Pilo erection / ITC "@I@'Eﬁ'[

Correct Answer :-
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« Vaso dilation /aTFE”WWUT

54) Which of the following is not a function of fertilizin- antifertilizin reaction? /

Fraff@a § @ o9 - Rt sfifear & ofea 89 arar o/ 78 22
1. Sperm identifies egg. / PTY] &I@ﬁt@?ﬂ:{m%l

2. Release hyaluronidase. / BTIRISY P! Jad HRal g |
3. Fertilization between different species is prevented. /WW%WW@WW%I

4. Prevent poly spermy. / Glgdhl\rldl CARIGE| %I

Correct Answer :-

+ Release hyaluronidase. / B'm@uﬁ@m Ga Had ddl gl

55) Which of the following is a prenatal technique to find out the genetic defect of a foetus? /

fFrafafea 4 3 &9 @ 1 & Smgaifie gy &1 uar @ & e uayd a6 82
1. Biopsy / STITGH

2. Scanning / SFHATEIOT (IHTT)

3. Laproscopy / IR IUT

4. Amniocentesis / 3edd (SMMRICR)

Correct Answer :-

. Amniocentesis / 3edde (SAMSIRICRRT)

56) Which of the following is not a feature of connective tissue? /

Frafafea & & o9 Sl Sae 3t T fa<yar 7181 82

1. Link and support other tissues. / 3= 3> ddb] bl TAY TG %Qa REC Hm«hm?{l
2. Cells are found close together. /ﬁw W@%W@?ﬁ%l

3. Mesodermal in origin. / Hel U T HHOHRR gl ol
4. Larger quantity of intercellular matrix. / RIS ST Bt A Wfﬂ?ﬁ %I

Correct Answer :-

« Cells are found close together. /WW@%W%%

57) Kathiawari is an important breed of Indian horse. It is generally found in: /
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HIRATART YR 918 ® TP Hgayqul ¥d g | 98 ArH=d: =1 9 urg o1t 8:
1. Gujarat and Rajasthan / TORTd 3R ISR

2. Himachal Pradesh / TgHTael UGRT

3. Punjab / UGITd

4. Meghalaya / HETEd

Correct Answer :-

. Gujarat and Rajasthan / TTSRTA 3R ISR

58) According to Hugo de Vries evolution is caused by: /

TN § 91 & garfae Ren g & sRu gl e:
1. single step large mutations / Uch <l TRUT 3=l IaRadT

2. gradual inheritance of useful variaﬁons/ﬂﬁﬁﬁﬂ@f% %ﬁﬁm
3. a continuous and gradual process / T ERGR B?I'\" e} Tfohar

4. natural selection /WW

Correct Answer :-

« single step large mutations / Uch ¢ TRUT 3= RICIECRG

59) Part of the brain that helps in regulation and maintenance of muscular activities: /

AieTs 1 Ue iR it aivosh afafafte & e ok Tavams & ueg ovar 8, F= seaman @:
1. Medulla oblongata / TR=RNY (HGalT S{eIeT)

2. Midbrain / HEAHKIS

3. Cerebrum / THIRTSH

4. Cerebellum / GHWW

Correct Answer :-

o Cerebellum/ W

60) Part of the chromosome beyond the secondary constriction is called ./

feciia Sl & W R &1 YT e Bl
1. Chromonema / STHIFHT

2. Centromere /Wﬁg
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3. Satellite / 37 (HCATEC)
4, Telomere /é?‘ﬁﬂ?

Correct Answer :-

« Satellite / \’dﬂmﬁ (@%?ﬂ—s:a

61) Progesterone prepares the inner lining of the uterus for implantation. From where is it secreted? /

WIoReH, 3RIYUT & fore muiRrr ot Wit wvd TR &var 81 98 w8l @ A1fad giar 82
1. Foetus / YUl
2. Uterine wall / THTZ &t dlaR

3. Pituitary / fd?qaﬂ (Cﬂ%) PR
4. Corpus luteum /tid fis

Correct Answer :-

o Corpus luteum /dia fus

62) Find out the mismatched one: /Eﬁﬁaﬁﬁﬁ@ﬁ

1. Eubacteria — peptidoglycan /@Hﬁﬁm - aglis\l*mlﬁdﬁl

2. Sulphur bacteria - thermoacidophile / TR IR - Uﬁq%@w
3. Thermophile — hot springs / Uﬁtﬁl—éﬁ - SUrEd

4. Dead sea - methanogens / {d ¥R - T

Correct Answer :-

+ Dead sea - methanogens / H{d ¥IX - T

63) Plants that grow in sandy soils are called: / S¢31T ﬁl@ H I ard N A= ﬁ?ﬂ% %
1. Lithophytes/m

2. Psammophytes /Wﬁt&

3. Oxylophytes / WW@E

4, Halophytes /aavrqa‘riﬁa

Correct Answer :-

« Psammophytes /W@E
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64) A structure present in human heart that prevents the backward flow of oxygenated blood when the
ventricular pressure falls. /

mﬁm@mwﬁmﬁﬁmm%ﬁnﬁwmm%%%mﬁm

1. Bicuspid valve / STS® IS died

2. Tricuspid valve / U] dica

3. Semilunar vaIve/ﬁTﬂ?ﬁT?ﬁﬁ

4. Pulmonary valve / UTHIRI died

Correct Answer :-

« Bicuspid valve / Gllschlr%\qs dled

65) Black necrosis of young leaves and terminal buds develop due to the deficiency of: /

arelt uftr ofiR siferm wieral &1 ®1en ufvwre g 3t $it $ SR e Ria giar &:
1. Sulphur / Heth}
2. Magnesium/ﬁm

3. Zinc / ST
4. Boron /@T‘IJ:T

Correct Answer :-

« Boron /EhT\IJ:T

66) Choose the domain that contains the most primitive bacteria that lives in extreme environment: /

I &F BT I B3 oW TRA gaiaror # 789 arel I99 Ui 95T e 9 g
1. Eukarya/m
2. Protista / m

3. Eubacteria / uﬁaﬁﬁm
4. Archaea / 3(Tfbar

Correct Answer :-

o Archaea/ 3‘|Tﬁ’WT

67) What is karyogamy? / FHaad- @Rﬁmﬂ) T 8?
1. Fusion of gametic nucleus / g AN bl Hag
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2. Fusion of gametoplasm / TS BT HergH

3. Fusion of gametes / WP T YT

4. Fusion of somatic cells / BTA® FHIRBT BT HAagT

Correct Answer :-

« Fusion of gametic nucleus / JiHdH T BT G-

68) Which of the following is not a steroid? /
Frafefea § 9 o 91 te wRigs 981 82
1. Thyroxine / ?‘ﬂgﬁﬁﬂq

2. Testosterone / CXEIRCRIA

3. Progesterone / TIoReR A

4. Estrogen / Q@\_J‘Ff

Correct Answer :-

» Thyroxine / ?‘HB?TJ@:FT

69) Which among the following is viviparous? /
o d I SREge s are?

1. House lizard / ‘?ﬁﬁ [EEEI

2. Ostrich / W‘f

3. Pigeon / hqcX
4, Kangaroo / HIRE

Correct Answer :-

» Kangaroo / HIRE

70) Hair like projections that extend from the epidermis are: /
FTera 9 fawgd g ard W S veuor e g

1. Stem hairs / =11 39

2. Thorn / &

3. Root hairs / G 9

4. Trichomes / CIShIH
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Correct Answer :-

« Trichomes / TE®H

71) The juice of Sesbania grandifiora flowers is believed to be beneficial in improving eye sight. Identify
the plant family to which it belongs. /

SRTRRT T TS W (Fea7i7a7r F=Tweien wal &1 39 3ial 31 2fd #§ JUR H1 F fore wradvic A
STl 8 1 99 UTeU & $d B Uga Piorg forad g8 wafka 71

1. Solanaceae /?ﬁﬁ'ﬁﬁlﬁ

2. Asteraceae / mﬁﬂ!

3. Fabaceae / ThETIRIY

4, Brassicaceae / W (aﬁlm

Correct Answer :-

« Fabaceae / ST

72) Agarose, a polysaccharide extracted from Gelidium is used as medium for the: /

gmﬁﬁmwwm(ﬁﬁm) ‘TR 9 & e A1erw & =0 A SuaT forar e

1. storage of DNA / ST T HSRUT

2. extraction of minerals / @f-Tol o BT

3. separation of DNA fragments. / ST WSl B e BT
4. isolation of vitamins / fA@Tf T 3feMTTd

Correct Answer :-

« separation of DNA fragments. / ST G S| Bl AT BT

73) A contraceptive option that suppresses sperm motility and also inhibits the implantation of
blastocyst: /

?Wﬁﬁﬁwﬁwﬁwaﬂwﬁaﬂmaﬁm%aﬁ?m(m)$mﬁﬁw%ﬁw

1. Copper-T / PR -

2. Diaphragm / SIITWTH

3. Contraceptive pills / TR Miert
4. Condom / HSIH
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Correct Answer :-

« Copper-T/ PIR — ¢

74) Base analogues cause mispairing and get incorporated into DNA during DNA replication. Choose the
right option representing only natural base analogues: /

e Ui fa & SR SMUR 3R TTad Ad & § MR SIEY | affferd gt oI §1 Faa mefae SmuR
SEUATSH I gRIdT fawed g

1. 5-bromouracil, 2-amino purine, 5-bromo deoxyuridine/
5-SHIRTIRYE, 2-TAAT TR, s fSefiafigfies
2. 5-bromouracil, 5-hydroxy methyl cytosine, 2-amino purine/
5- ARG, 5-BE Sl S d TSI, 2- TR giRA
3. 5-methyl cytosine, 5-hydroxy methyl cytosine, 6-methyl purine/
5-TRITSd AISCIRM, s-gEsia fHUTSd AR, 6-fHrimsd WA
4. 5-methyl cytosine, 5-bromo deoxyuridine, 6-methyl purine/

5- TS d Wi, s-aH) fSeiRigRersH, 6-Mugd wiRkA

Correct Answer :-

« 5-methyl cytosine, 5-hydroxy methyl cytosine, 6-methyl purine/

5-HUTSd UIECIRM, s-gS sl fiUTSd WciRH, 6-MHurgd &R

75) The phenomenon by which a prothallus gives rise to fern plant without fertilization is called: /

ey, e & o B 919 $1 591 ¢ &, 39 ge1 o 1 Pe1 oan &
1. Apospory / SURTART

2. Apomixes / Eﬂff&l@?{

3. Apogamy / @Tﬁﬁf

4, Parthenogenesis / IR

Correct Answer :-

« Apogamy / Q‘ﬂ”ﬁ’lﬂ

76) If the eye piece lens magnifies 10 times, what objective lens will give 400 X magnification? /

gfe A A 10 A1 Smafifa &ar 8, 9 S A1 e A 400 X Smae m?

1. 400 X
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2.4X
3.04X

4.40X

Correct Answer :-

« 40X

77) A segment of DNA has 250 Thymine and 250 Guanine bases. The total number of nucleotides
present in the segment is: /

SITT & TH YT A 250 YRR SR 250 G ST gid &1 39 YT H Hiv[g <adiesed &t oo g e 8:
1. 250
2. 500
3.750

4. 1000

Correct Answer :-

« 1000

78) CANCELLED

Substitution of usual sexual reproduction by a form of reproduction which does not include meiosis and
syngamy results in the formation of an embryo which is: /

WO { & U T T A9 Yo7+ 1 UiaeTos, forad yur & 7o+ ® ufRumeasey st faurss
3R TS Hag- A T8l gid 8, = &

1. apomictic haploid / THIHe® §wisS
2. apomictic diploid / Al fewise
3. amphimictic haploid / [YEEIELEY %T-(_*I:I%?:'
4. amphimictic diploid / TTRp Al ® [SWigS

Correct Answer :-

. apomictic diploid / TOIHC® fEwlss

79) Which of the following feature can distinguish prokaryotes from eukaryotes? /
fFrafafaa & @ &1 @ foRivar g iaie d yehss (MeRale) S e % Jodl 82
1. Presence of small vacuoles in prokaryotes / Wdhge (Maieare) & Biet RigasT (Qagsiey) ot ufdufa
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2. Presence of cell wall in prokaryotes / Wdhad (Wdbiae) § Hife-ifa o Jufufa
3. Presence of cell membrane in prokaryotes / UTadhad (MebRaie) H ST fRreeh o IufRufa
4. Presence of incipient nucleus in prokaryotes / Uighad (MepRae) # R Tt &t SufRufy

Correct Answer :-

« Presence of incipient nucleus in prokaryotes / UTadbgd (Mbiedie) § R Aifte &t SufRufa

80) Which of the following statements is incorrect regarding fluid mosaic model of plasma membrane?
(i)The plasma membrane is composed of a lipid bilayer of phospholipid.

(iif)Each phospholipid molecule has two ends, an outer head hydrophilic and the inner hydrophobic tail.
(iii)The protein molecules are arranged in two different ways: (a) Peripheral proteins or extrinsic
proteins (b) Integral proteins or intrinsic proteins

(iv)The model was proposed by Robertson (1972)./

WIS fRreell & 5a Hivie Alsd & aR | Fufefad # @ 4 91 $Y Tad 82

(i) wiTeHT fRreelt wrapiferiue & ffte ffura @ 9+t g1 21

(i) TS BIEpIis 3] & gf R §1d &, 91el Y STerag! Sii¥ siiafie swafaRid g=o

(i) A Srupaif P S SreT-3rerT d¥ie! § wafeud fvar Sirar 8: (a) uRehta Wdi= a1 arer WdA (b) st wd=
1 3fial® W=

(iv) ATSd G (1972) TRT U fpar I @r ATl

1. (iv) onIy/W(iv)

2. (i) and (i) / (i) 3T (i)

3. (iii) and (iv) / (iii) 3R (iv)

4. (iii) only / had (iii)

Correct Answer :-
« (iv) only /pad (iv)
81) Observe the relationship between the first two words and fill in the word at the fourth place.

Chloroplast : photosynthesis :: Leucoplast :

UEA &l egl &b o Heieil BT e oY SR Hid T IR Weg Wi
FARTERE: BT AT :: TP ITRE :
1. Colouring of the flowers / Uﬁ‘hﬁm

2. Digestion of damaged cells / &R BIfRIw13M &1 U

3. Storage of energy in the form of ATP / gt & =g | STl &1 o

4. Storage of food / HISH &1 T

Correct Answer :-

« Storage of food / YIS BT IO
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82) Conjugation between F+(donor) and F- (recipient)strain always yield ./
F + (STdT) Td F - (WTdd)) a9 $ S G ded Uergiargl

1. F+ strain / F + d-ld

2. A new strain / b T d-1d

3. Both F+ and F-/ F + Td F - GHI

4, F- strain / F - d-Id

Correct Answer :-

o F+strain/F + ddld

83) Enzymes are used in the manufacture of many specific products in industries. Tissue plasminogen
enzyme is utilised to: /

TS HI BT YT I 6 w3 AP Iarel & fHwtor § forar Sirar 81 Sde® wifRa-ier TeIrsH &1
SULRT fHaT Te 8:

1. remove oily stain from clothes / HUSI ¥ dd & GBI g d

2. dissolve blood clots in heart attack patients / fea o aﬁi’ & HRIol | Xad & Ydh Bl [Uga™ |
3. stop bleeding during surgery / ol & a?'l:f Ei ?% Regl IS PRAH

4, tenderise meat / He I RABHHA

Correct Answer :-

« dissolve blood clots in heart attack patients / e & SR & TioN o Yo & Uadh I g o

84) In cryopreservation the biological materials are first dehydrated with: /

PTAeRAR) P ufveron (Asfae yerif &1 ugd Hu & ary i fosar smar g:
1. Xylol / STQId

2. ethyl alcohol / SUTSA Tehigd

3. formalin -acetic acid / WIHICH -THIfCH 3

4. glycerol or DMS / TeRERI@ a1 SiwHTy

Correct Answer :-

« glycerol or DMS / TRRI 7 SITaTg

85) Pusa Gaurav developed by breeding for disease resistance against aphids is a variety of: /
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el & ufar I ufeRterear & gy R AR gom ke @:
1. Rape seed mustard / YIS HES

2, Flat bean / TRIC SiF

3. Cowpea / QTS

4. Okra / 31T (1S

Correct Answer :-

» Rape seed mustard / IS Mes

86) CANCELLED

Most of the mammals have as an organ of nutrition for the developing foetus. /
i TareTial # faeTasiier Yor & ol & 3 & wu o G

1. Mammary gland / & PR

2. Pouch / Uit

3. Fat/ddl

4. Placenta / SIS SR

Correct Answer :-

« Placenta / SIS

87) CANCELLED

Mesoderm, the middle layer of the embryo differentiates into structures like: /

TAIeH, Yur ®1 Heoy tRd 7 St T o firs gl &

1. conjunctiva, nervous system, hairs, nails / WWT, KIEGH FH, EINAGIEEG]

2. gut, respiratory tract, urinary bladder, digestive gland / 3{Td, %9 d7, AR, Ul PIR]

3. connective tissues, dermis, iris, adrenal cortex / wﬁﬁm, oddl, 3‘“%?\’? , @ﬁﬁw PIE|

4. mammary glands, lacrimal glands, thyroid, parathyroid / % Hfar, 318 Tfan, UFRTS, RIURRISS

Correct Answer :-

« connective tissues, dermis, iris, adrenal cortex / Tgrelt G$Hdd, oddl, Gﬂéﬁﬂ , \3'@@7%5 PIE|

88) CANCELLED

Which of the following statement is incorrect regarding diffusion? /
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Frafifed § & o1 91 Sy fRRu & ddy & 7aq 82

1. The diffusing molecules move randomly. / ﬁﬁﬂ U] qefasd =0 I 31 EIET:T %I

2. Rate of diffusion of molecules is proportional to the density of medium through which they move./
30137} % fITR0T ) o= A1eqH & Tcd b STl gleil & o Hrem A 9 3 9gd B

3. Direction of diffusion of one substance is dependent on the movement of another substance./
T Uerd & faerur 1 = et o uerd &t fd R MR gt 31

4. Movement of molecules is due to their kinetic energy. / 3{U[37 @1 T It 7S] Solf &b BRI Bl &

Correct Answer :-

« Direction of diffusion of one substance is dependent on the movement of another substance./

e Ut o fauRur o fewm fhat oy uerdf ot fid R AR gt g1

89) CANCELLED
Which of the following statement is incorrect regarding hyaline cartilage? /
TSI SUIRY & Hay & Fafifed & & $19 91 Y= 7Tad 82

1. It is flexible, elastic and compressible. / g Q1ﬂnlc1l, AIGR 3R W%H%I

2. It is present in extremities of leg bones, laryngeal wall, nasal septum and superscapula. / a_@'aT P B@tﬁ,

ARSI IR, AT PH 3R JURIH YAl & TRE W § A5G |
3. It has a heterogeneous, transparent, dark matrix. / gﬂﬁ U T%I'GITL U REQ”, STh ﬁﬁﬁ:\q %I

4. Sternum is connected to ribs by hyaline cartilage. / %C'?H, JENIES! FHIfcars gRT gHferdl o sl E&IT%I

Correct Answer :-

« It has a heterogeneous, transparent, dark matrix. / Eﬂf[ Udh %51'5[, v REQ“, STh fﬁ?ﬁlﬂ %l

90) CANCELLED

The percentage ratio of natality over mortality that determines the growth of a population is known as: /
Y & TR W1+ & b1 UTrId S[UTd il SIHEEI & faery &) Frufid ©wdr 8, 98 S siar @:

1. sex ratio / eIt 31T

2. population density / SRS U-cd

3. vital index / AGAYUl JADBID

4. age structure / 39 TN

Correct Answer :-
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« vital index / HE@YUl GADIh

91) CANCELLED

The hairs on the skin erect when temperature falls. Give reason: /

ST AU RRaT 8 O 9= & 919 WS 81 Sd & | PRl 9dTd:

1. The thickened fur coat act as an insulator. / TCT R BIC SR & U T BRI Hd] %l
2. It is a behavioral change. /QEWWWW%I

3. It is due to subcutaneous fat. / T8 ERTTT T H| golg W BT |

4. Cold makes the hair stiff, / Yd 9Td B HER ST & |

Correct Answer :-

« The thickened fur coat act as an insulator. /IﬁETW WW@%WﬁWW%I

92) CANCELLED

Part of the pro meristem that develops into cortex of the stem and roots is: /
WHAUITD SHaP B fowT ol a1 37R SISl & TR # fawRia giar g1
1. Periblem / URRsH GESIGRIGEI

2. Dermatogen /aﬁ?hﬁﬂ

3. Plerome /@@lﬁ

4, Both dermatogen and plerome /Eﬁﬂﬁl’f 3R TR gt

Correct Answer :-

« Periblem / URSTH (AT TidT)

93) CANCELLED

Erythromycin is an antibiotic which provides protection from bacterial diseases by: /
TR R U tanifes 3 it fra forar g Staryy sifera 3 & QRaim U P o

1. disrupting the cell membrane /ﬁﬁm@c_vﬂﬁ:@m

2. inhibiting protein synthesis / I GO B AHh

3. hindering cell wall synthesis /WWW@WW

4. binding with microtubules / G&FAIBTS & TTY DB

Correct Answer :-
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« inhibiting protein synthesis /T;h_CpFT TAYUT B[ AP D
94) CANCELLED
Lysosomes are called the suicidal bags of the cell because: /
AT B AT BT THGATHD ST BT STl § Tl
1. they digest foreign materials. /
J fac=h wmiEl & uEd
2. when the cells are damaged, the lysosomes burst and the enzymes digest their own cells. /
S HIRABTY &I 51 &I 8, O A3urad TRpied 51 §ld ¢ SR USTSH S0+ HIRIHISH $I gaH ed § |
3. lysosomes contain digestive enzymes. /
ARG T e USTTgH e 81 6
4. they promote the suicide of the organism. /

3 oa B! TR F T IgTar 3 T

Correct Answer :-

« when the cells are damaged, the lysosomes burst and the enzymes digest their own cells. /

T HIRMBTY TR g1 St &, dl gy URpied g1 §ld 8 3R TSIgd (U Sifiesrefl &1 uam & g

95) CANCELLED

Given below are a few events in meiosis:-

(i) Splitting of centromere and separation of sister chromatids
(ii) Terminalisation of chiasmata

(iii) Procentric pairing of chromosomes

(iv) Arrangement of bivalents in the plane of equator of the cell
Which of the following options give the correct sequence in which they occur?/
& 1 erefEhifaurs # oo geAne §: -

(i) TUREASg BT fauTe iR 98+ wHAfes! &I e ST

(ii) TATRIDT BT SUTHHTT

(iii) TUREA BT g g

(iv) DIRMBT F YA Y& & faur ¥ fgigiere! &) saawn
frrafafea @ o1 a1 faweu w5t 3rgehH a1 ¢ ford 9 afea gia 82

1. (iii), (ii), (iv),(1)
2. (iv), (i), (iii),(ii)
3. (ii), (i), (iv),(iii)
4. (i), (iv), (i), (iii)
Correct Answer :-

o (iii), (ii), (iv),(1)
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96) CANCELLED

In Cucurbita plants, the pollen tube enters the ovule through the funicle or integument. This process is
called i

@ﬁﬁﬁmw%mﬁwﬂ%mmﬂﬁmﬁmm%lwmﬁ C|
STeT 21

1. misogamy / YA

2. herkogamy / T3 SHTIARTT
3. porogamy / 3SR YAy

4, chalazogamy / ﬁ“—fﬂﬂ?ﬂ:{

Correct Answer :-

« misogamy / YA

97) CANCELLED

Carnivores represent this level of food chain: /
wirgHeft WTer YT & 59 WR B gRid 8

1. Producers / ST

2. Secondary consumers / HieofHe SuHTaT

3. Decomposers / 3[UUCH

4. Primary consumers / TS U
Correct Answer :-

« Secondary consumers / TS ST

98) Enzymes of small intestine remain active at an optimum pH of: /
DI 3fid P TSITSH TP SPaH pH WR Hfhy T8d & ol e @

1.7-8

2.6

3.2

4.4

Correct Answer :-
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99) What are heterocrine glands? / %@W (ﬁww‘qﬂ) PIRE K1 Eﬁ?ﬁ%"
1. Glands with endocrine and exocrine parts / 3id.rdt Td Erl%wa? ST 9Tt TRaT
2. Glands that secrete pheromones / BRIAH ATfad HA arel Uiar

3. A collection of 6 glands / 6 T} &1 TUE

4. Glands with ducts / dlgh Tferemtan arett ‘IW

Correct Answer :-

« Glands with endocrine and exocrine parts / 3{d Tdl Ud §fg:ardt 3 greft Hfdrt

100) As the sarcomere contracts the length of the A- band: /
ST AIHIRAR WH i BT 8 ol A-d & dars:

1. Remains the same / '\'R:h fo @t T@T‘ﬁ %

2. Increases thrice / I Tde oIl €

3. Doubles / Eﬁﬁ HESIGIl %

4. Decreases / B g1 OITcll &

Correct Answer :-

« Remains the same / I & &f QEE“ %
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